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A
I, Question Nd. ONE is compulsory &
2. Solve any THREE out of remaining questions
3. Assume suitable data if required R R P
Solve the following (Any Four) f«ﬁ'\ﬂ A .:ﬁ_‘li;‘i 4 PP
A. Explain the clocking resources and XADC avaﬂ able in VERTEX-7 FPGAs# = '
o A 0 S S
B. Justify that we can randomize objects mgﬂ'ﬁ LEu Jerilog? -+
C. Explain verification directives “assert 'ﬁna *cqﬁer:%th sg:tab!a e

D. Differentiate between PLI and DPI‘? %mh Ehoutd be use.d
in SystemVerilog? 2 «r" o .;}-:c.* «. -

o "1

A ,m ey o &
E. What is difference betwae;:_t Suﬁbfmd HGT

~

A. List the benefits and dra “’t'agkgﬁfﬁ' ‘{:[;Lréﬁ.;e,d’ mun .. B, -
B. Write the System\fm t‘@d:‘to‘ bm o

iy

Declare a 2-state al'l;a?hﬂl:parmﬁ tﬁai 1
Initialize m}i__m?ﬁu thatt. “‘“‘_‘,f’ A
08 tpg‘atraﬂm@\lz’hm - b |

2 1= (2] ey

) my D) 2823

05 Marks

05 Marks

S A) Ty afrayi - 12°H0,
<)y S
i Iravc{seﬁl}r ﬂfra}'“ an”?ﬁ int oy

05 Marks

SIS ﬁ_i...?@hrr‘iii,iﬂ? 1'éngth
WS cﬁnstrambl: short {length inside {[1:32]};}
i i > cunsj@n’t ¢_long { length inside {[1000:1023]};}
TSN cidclass, o

4 vl R ey

$5% Q@‘-nsw(} '

p.cunstramt_mude{{});
p.c_short.constraint_mode(1);
e 'SV_RAND_CHECK(p.randomize());
o transmit(p);

end // initial
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D. Explain use of $display, $monitor and $assert in Verilog test benchﬂé with S'ultabie emplts\vBS ilag

A . <-a-
[ ."I o .‘u,

Q3. - A. Justify that there are situations in which it is not hencﬁclal to,use Hj’l h}ﬁrfibi -~ Mﬁrlvgs )

i-"\--
f

*
3 )

class Packet; g Ve

* rand bit [31:0] src, dst, @m[ﬁ]-.l_ w

randc bit [7:0] kind; . o 3 _1}“\“_‘{@ o ’E'x"'\ &

constraint ¢ {src > lﬂ,fsrc *:‘1&;\}“: ? ;é e glT
endclass (A VR N

Packet p; “ iy
initial begin o = SV s

p=n=w() '_. o : :

if (p. raudu ze\()l%. S

$finishi; & & 4 T ﬂ?ﬁ -

mnﬁeut@lﬁw;ﬁ;;@;;f &3

= 'n_ i | i :\ :"' L A "'Jf" :'jr’ L l_.'.- -.
I B. What do you mean by dynamic array and when it is us;ﬁﬂ?ﬁ-.-»-- BRws o ; _:_ﬁj_‘_}

oA ? PE AR

C. Explain about the Timeunit, Timeprecision and umefscalze% P& z{:\x

D. Explain each and every statement of the fnlluvﬂpg cndc.x Kxre PR

=y

Eﬂd {é‘-‘;‘ '-v-hg\ . "‘q,a --\:’-f."".-'“.r o r A e 0
. . cigla s SystemVerilo
Q4.  A. With suitable e:xafhﬂ'f ME‘“ .*.-.w'. 4 I:ed fommﬂhianmaﬁ;nﬂ r,lune in Sys el ri,

05 Marks
r Vlﬂllﬂ! Clﬁ% 3 :-;.-';, -:' 5':4:-"‘ : oot
e Wntﬂ ﬂl@ ﬂu’ipllt : e ,_-. 3 -'l _ g bﬂuﬂdﬁd mall\h(!x\_ &
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plaﬂ'fﬁgd@eﬁﬁefm put(%0d)", i);

’Fuh(i'? ST

$d1sﬂiI:auj,?g‘ff'n::rEll.ml!a:~ after put(%0d)", i);

s &,

$dis‘play("%ﬁt Consumer: Working on (%0d)", $time, j);

- #10ns;” _ R
$d1$p’l;y{“%0t Consumer: Done Working on (%0d)", $time,.j);

nd° %

F)
i T
B cend.”
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D. For the interface: Sy {I'5 Marlm o,
interface ram_if{input bit clk); G NN 3 Jiy
bit wr; ‘
bit [31:0] data_in;
bit [15:0] add;
logic'[31:0] data_out;
= endinterface
Add a clocking block that:

1. Is sensitive to the positive edge Eif clock
#2. All VO are synchronous to the‘“blﬂckh e

3. Creates a modport for the tas’tbcnch galled mi;stqr and

4, Will be used in the slavr T SO A L
Q5.  A. Describe the ‘scope’ for each ‘bptmd’ mﬂm fc&llgwmg cndé é .ot 18
int bound; '---'x?‘ S el ‘“Vf Mo
program autnmatlc p, FLaias ;
int bound; - Ok e : o
class Fohx T D S
int bound army{], 2T B
function void print (mtbu S
S for (int i=0; ﬁwbuuud.l 5
S H_*.‘ ’Edmplaj'("%‘m; array[%0d] arr:ayh])
S e , o :

05 Marks

"'Qe mmnﬂummﬂﬂ and wh}r it is required in design verification? Give detail
suitable e;xample. g 10 Marks

05 Marks

'. . S 7 '4-'-' "“ e
-tha lt 13 nﬂcqs“sarym get high code coverage as well as high functional coverage during
. " 05 Marks

s gy "
b .

r‘ Wﬁt‘sultablc example for each, explain the following with respect to S}rstem‘u'enlug assertions:

:*’.‘-:_%1% \i;; s - ‘a.Property
‘i.?:%_m,. o b Sequence 95 Msrks
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